Ly %

FER %

5 8y

SER T

(%

%i%ﬂ%%%ﬁﬂﬁiOﬁOgﬁ’

5] E A

»

*&%kﬁ(ﬁ 57 )

FER L

\-‘-\

O0O%L
10£07 b

P

&3

AREAR

2EHRA R

(# % Hi= Ao~x6h ?)

(5 2% 524 8 F 55 4¢ 24
(€] B NN B TSN S
52) (At B4 R L)

N5 (R e # 2 ¢
[[]- 4% 4

[(0-3,500~) %61 * ]

(%= ¢t 34
[(0-2,500+~) x6% * ]

s R PR

IE—%} (#)

éﬁuﬁ?(ﬂﬂm&&%)

- ,T'z,;g 7 ’*k: % ik b 4 % i:' l}ﬂ‘? ¥ P
PrRT2 P iE A A 0 5 AR AT
TR AR  REFARFY
B o

-~ TSAOE R kTN BYaTesl
¥ 50007 ;0 & FlAF R E 50

D%[?]”r‘#”’h#rfj‘u%%”f’” °
(% Fofpdaean s £ s w °

INN) ELE E RIE TR S ¥

i - LY 4] 2 2 R RE l‘j

-
%@iﬁg%ﬁy%T:
&0 8L 5B
;:,,ﬁggg.huj—-ﬁz,ia
T

SRR
SRS

(z)#aas 15 9‘1(?
EHAp LG
P R R A .

\5;&4\;"’ %‘ja‘:hﬁ_zgldm;ﬁ‘pévh F B
J{P\_I_}\Haﬂ,w ,;}%ﬁxﬁ,fy\» —5%_5;_
FEAET’—’ AIRIE S-S

CH AR ROR 2 ¥ IR T A
IE TR & ol - L

k%

=

I~y

2GR REEER KD 22
FHIT o
= \ﬁ\]f]‘{(tg E!_g.%lli?b%—ﬂé 2R e
AEHFERBHIIR T (3 PRiE 2 40 B g (1% DB P A
FHIZ o
5 )5 3T e X Be AT =
RIcEdF - AR ogor K )
P pH OO OFR

(F2/Z/EHP 8L > 5

7z % 3,500%)

ApH/ 8

§ 3/ 3

BE/EF A




